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If three-fifths of a number is 54, what is two-ninth of it?
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If 3p = 4qg and 3q = 5r, then find the ratio p: r.
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If 0.25: x5: 6, then x is equal to:

qf¢ 0.25: x::5: 6, dl x SRR G: a bt ol
1.0.9 D-24 (; A C
T T
203 ( @ 6
— 14% fﬂ/ﬁm/}mmx/
1 5 0.05 06, 9 2
4. 0.6 (L =(0-5N = i /_2]_
6 >
3‘(0/ /Qa/DﬁO&VL)OJQﬂ/
mean /mkoﬁ)ow W/é/j)
M/q L4/@>9 (4 \6
o I—C 5 o >



i — b5g
f < = then what will be the value D \2/
b 5 S —4&: [/%j

afe £ = L d 222 a1 A a1 gh T

Sa —4b
1.3/11— ™ 35 + 2o
a3 =55 L

4.5/7 ——



If (2x + 3y): (4x - 7y) = 3: 5, then what is x : y?
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If (2x + 3y): (3y - 2x) = 3: 1, then (3x + 4vy): (3x - vy) Is equal to:
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If theratio P: Q=2: 3, and Q: R =3: 4 then the ratio (P + Q): (Q + R) is:
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If X2 :¥2=4:9and 2: X = 1:2, then find the Value of Y.
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If(a+b):(b+c):(c+a)=8:7:5and a+ b+ c=60, then the ratio of a: b: cis:

W
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Find the third proportional to 15 and 45.
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What is the fourth proportional to 9, 21 and 1237
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Find the ratio between the fourth proportional of 2, 4, 6 and the third proportional of 4, 8.
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When x is added to each of 6, 12, 18 and 28, then the numbers so obtained in this order are
in a proportion. The value of (5x + 6): (x - 1) is equal to:
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A bag ccuntain the form of 50 p, and 20 p coins in the ratio 4:3:2. Find the
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number of 25 p coins. % —> 7/ A
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A purse contains some coins in denominations of 1 rupee, 2 rupees and 5 rupees in the ratio
8:5:3. If the total worth of these coins is Rs. 132, then how many 5-rupee coins are there in

the purse? —
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When 176 is divided in the proportion 1: 4: 6, what is the difference between the largest

share and the smallest share (in Rs.)? @
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Three numbers are such that the first number is 30% more than the third number and the
second number is 40% less than the third number. What is the ratio of the first number to

the sum of the first number and the second number?
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The ratio of boys and girls in a club was 8: 5. When 6 boys left and at the same time 9 more

girls joined the club, the ratio of boys and girls became 14: 13. The number ngirls,Tnitially,
in the club was:
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Copper and zinc are melted together in the ratio 11: 9. What is the weight of melted
mixture, if 27 kg of zinc has been consumed in it?
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The ratio of the market price of wheat and rice is 3: 8 and the ratio of their quantities
consumed in a family is 4:9. What is the ratio of expenditure on wheat and rice?
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The ratio of the number of girls and boys in a school is 8:7. If the percentage increase in the
number of girls and boys is 10% and 20%, respectively, what will be the new ratio?
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A sum of money is distributed among A, B, C and D in the ratio 4:7: 11: 13, respectively. If C
gets Rs. 2,800 more than B, then the difference between A's share ard-D's share is (in Rs.):
———— (g
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A sum of Rs. 980 is divided among A, B and C such that A gets % of B's share and C gets 75%

of A's share. The share of Cis:

980 TUU BT A, B AR CH dASHUBR dicI A g [ ADT B B FW BT13/7 MR cHI A D g
&1 75% HadI g1 ¢ 1 81 8-

1. Rs. 160 A & . /) 5. :é
2. Rs. 250 @xq =19 =2z @X F
R 180 =39
4.Rs. 280 P i Eg > @ < @
g — 9g&o
1 = gso 20 X9 = /50O

e



	PDF_Cover_Image (15)
	Ratio and Proportion part 1
	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14

	Ratio and Proportion part 2
	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12


